
    Acryl
   Acryl
23-00080-000AF-00035-001

 B
B

 B
B

 B
B

 B
B

Instruction
24-PIS00-100

24-00KLN-000 -2pcs.

A

CO-PIS00-010

CO-PIS00-030 2 pcs

CO-PIS00-050

CO-PIS00-020

CO-PIS00-040

CO-PIS00-060

CO-PIS00-070

CO-PIS00-080

CO-PIS00-100

CO-PIS00-090

CO-STO00-004

22-PIS00-015 Pisa top grate white

AF-PIS00-010 Screwed bar M8 DIN 975 L=800mm

22-PRA00-060

22-PRA00-050

22-CAN00-120 Radiation shield bottom

DETAIL A
SCALE 1 : 3

22-FAR00-080 Hook 2 pcs

21-30004-016 Screw M6x16 Din 933 4 pcs

21-50001-018 Washer fi6x18 Din 9021 4 pcs

21-50000-022 Washer fi8x24 Din 9021 2 pcs

21-00000-008 Nut M8 Din 934 3 pcs

21-40009-013 Screw 4,2x13 DIN 7504M 2 pcs

NUMBER ELEMENT MATERIAL MATERIAL 
THICKNESS

QUANTITY UNIT REMARK

  -

22 22-CAN00-120 Radiation shield bottom EN 10142 DX51+Z

Grubość@D
efault@22-
CAN00-120 
Radiation 

shield 
bottom.SLD

PRT

1 pcs

21 21-40009-013 Screw 4,2x13 DIN 7504M 2 pcs

20 22-PRA00-060 Radiation shield front EN 10142 DX51+Z 1 pcs

19 22-PRA00-050 Radiation shield back EN 10142 DX51+Z 1 pcs

  22-STO00-035 Reinforcement - part 004 Carbon steel 1 pcs

  Stocholm concrete part 004 Foamed concrete 1 pcs

18 CO-STO00-004 Ring Foamed concrete 1 pcs

17 21-50000-022 Washer fi8x24 Din 9021 2 pcs

16 21-00000-008 Nut M8 Din 934 3 pcs

15 AF-PIS00-010 Screwed bar M8 DIN 975 L=800mm Galvanized steel 1 pcs

14 21-50001-018 Washer fi6x18 Din 9021 4 pcs

13 21-30004-016 Screw M6x16 Din 933 4 pcs

  -

12 22-FAR00-080 Hook EN 10111 DD11 2 pcs

  -

11 22-PIS00-010 Pisa top grate EN 10111 DD11 1 pcs

10 CO-PIS00-100 Surround part ShapeStone Light 1 pcs

9 CO-PIS00-090 Firewall part Foam concrete 1 pcs

8 CO-PIS00-080 Surround part Foam concrete 1 pcs

7 CO-PIS00-070 Surround part Foam concrete 1 pcs

6 CO-PIS00-060 Surround part Foam concrete 1 pcs

5 CO-PIS00-050 Surround part Foam concrete 1 pcs

4 CO-PIS00-040 Surround part Foam concrete 1 pcs

3 CO-PIS00-030 Surround part Foam concrete 2 pcs

2 CO-PIS00-020 Surround part Foam concrete 1 pcs

1 CO-PIS00-010 Surround part Foam concrete 1 pcs

Table of delivery

FP-PIS00-100 Pisa

VE
RS

IO
N

: Q
1


	Sheet1
	Widok rysunku1
	Widok szczegółów A (1 : 3)


